Whitman College

Econ 107

Final Exam 

May 12, 2008

Write all answers on the exam.  Show all of your work.  The exam ends at noon.

1.  Consider the following article.

Mr. Market's Oil Fix: Higher Taxes 

Mark Gongloff

Wall Street Journal May 7, 2008; Page C1
Oil's climb to $122 a barrel has policy makers and presidential candidates scrambling for quick, feel-good solutions. Trouble is, their ideas are exactly the opposite of what straightforward market economics says is needed.  John McCain and Hillary Clinton want to send cash-strapped consumers on holidays from the federal gasoline tax. But the law they can't rewrite -- the law of supply and demand -- suggests it would backfire. 

Lower taxes would encourage people to drive more, adding to global carbon emissions. What the U.S. really needs, if it seeks a real fix to its energy-consumption problem, is less demand, not more. Mr. Market says there's a simple way to do that: Jack up the gas tax. Don't lower it.

Economists call it a "Pigovian Tax," in honor of English economist Arthur Pigou, who early in the 20th century examined economic activity that hurts innocent bystanders. To stop behavior that's not in the public good, you tax it more, not less. 

U.S. gas taxes have been flat for years, while most major industrialized nations have raised theirs. Raising them would fight pollution and congestion, ease the federal budget deficit, add urgency to the search for viable fossil-fuel alternatives, and help reduce U.S. addiction to foreign oil.  

For parts (a)-(c), assume that the market for gasoline is perfectly competitive.  

(a)  (5pts)  On the back of this page, draw a supply and demand diagram for gasoline.  On your diagram, label the competitive equilibrium quantity of gasoline Qpc.  

(b)  (15pts)  Consider the fact that gasoline consumption hurts innocent bystanders because of pollution and congestion.  On your supply and demand diagram from part (a), draw the marginal social cost curve for gasoline.  Label the socially optimal quantity of gasoline Qopt.  Indicate the dead-weight loss generated by a perfectly competitive market for gasoline.

(c)  (20pts)  In the space below, redraw the supply and demand diagram for gasoline.  Redraw the marginal social cost curve for gasoline.  On your diagram below, indicate the effect of lowering the tax on gasoline.  (In the United States, the tax on gasoline is a per-gallon tax paid by sellers.)  In what way does “the law of supply and demand suggests [a gas tax reduction] would backfire”?  Refer to your graph in your answer.
2.  Consider a hypothetical economy that produces four goods: togas, scooters, bananas and bulldozers.  The table below gives the prices of these goods in each of the past three years.  Suppose that the typical urban family purchased 10 togas, 2 scooters, 1000 bananas and 0 bulldozers in 2006.  

	Item
	Price in 2006
	Price in 2007
	Price in 2008

	Togas
	$5.00
	$5.50
	$5.50

	Scooters
	100.00
	110.00
	170.00

	Bananas
	0.25
	0.30
	0.25

	Bulldozers
	2000.00
	2200.00
	2220.00


(a)  (5pts) Calculate the Consumer Price Index (CPI) for 2007, using 2006 as the base year.

(b)  (5pts)  Calculate the CPI for 2008, using 2006 as the base year.

(c)  (10pts)  Calculate the inflation rate between 2007 and 2008.

3.  Use the following information to answer parts (a)-(f).  

Consider the market for unskilled labor for a hypothetical economy.  The table below shows each worker’s cost of working per hour and the employer’s revenue from hiring a worker for an hour.  Each employer may hire at most one worker, and cannot hire that person for a fraction of an hour.  Assume there is no government intervention in this market.  

	Worker's ID
	Worker's Cost of Working
	Employer's ID
	Employer's Revenue

	A
	$7.00
	1
	$10.00

	B
	8.00
	2
	11.00

	C
	6.00
	3
	13.00

	D
	9.00
	4
	12.00

	E
	10.00
	5
	14.00

	F
	11.00
	6
	15.00

	G
	5.00
	7
	16.00


(a) (10pts) On the graph paper below, draw the supply and demand curves for unskilled labor.  

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 


(b) (5pts) What is the equilibrium wage and quantity of labor traded in this market?

(c) (10pts)  Now suppose government offers $4 per hour of unemployment compensation to any worker who does not work.  On your graph from part (a), show the new supply curve for labor.  Label this supply curve S’.  

(d)  (5pts)  What is the new equilibrium wage and quantity?

(e)  (15pts) Is there a dead-weight loss due to the unemployment compensation?  If so, what is the dead-weight loss?  If not, explain why there is no dead-weight loss.

(f)  (15pts)  Suppose now the government does not offer unemployment compensation.  Suppose the government could build a public transit system that would reduce each worker’s cost of working by $2.  How would you determine the benefits to society of this public transit system?  Show and explain your work.  Draw a graph below to help in your analysis.

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 

	
	 
	 
	 
	 
	 
	 
	 
	
	
	
	 
	 
	 


4.  The current Federal Funds Rate is 2.0%, a rate that is historically quite low.

(a)  (30pts) Consider the current state of the macroeconomy.

Why might the Federal Reserve decide to lower the Federal Funds Rate yet further?  In your answer, you should discuss current macroeconomic conditions and refer to the fixed-nominal-wage-contract Aggregate Demand – Aggregate Supply (AD-AS) model.  Use an AD-AS graph in your explanation.

(b)  (10pts)  If the Federal Reserve did decide to lower the Federal Funds Rate, what exactly would the Federal Reserve do to make the Federal Funds Rate fall?  Be explicit in your answer.

(c)  (10pts)   If the Federal Reserve did decide to lower the Federal Funds Rate below its current level, what are the potential disadvantages?  Explain your answer.  Refer to your AD-AS analysis from part (a) in your explanation.  

5.  Consider the bidding experiment from class on Tuesday, May 6. 

(a)  (10pts)  Describe how your group decided how much to bid.  In what way was your bid risky, and how did your group decide to deal with the risk?

Credit-rating agencies such as Moody’s or Standard and Poor’s have expertise in evaluating information about the quality of financial assets.  For parts (b)-(d), suppose that in our experiment there was a credit-rating agency that knew the contents of three of the cups.  

(b)  (10pts)  Could the credit-rating agency’s information have helped groups better assess risk and therefore make better bids?  Explain your answer.

Since the 1980’s in the United States, credit-rating agencies have been paid for their ratings by the firms that are selling the financial assets.  What’s more, the credit-rating agencies collect additional payment from these firms for helping to design the financial assets that the firms are selling and that the agencies are rating.  Consider the information in the following article.

SEC Is Urged to Step Up  Policing of Rating Firms

By AARON LUCCHETTI and KARA SCANNELL

Wall Street Journal April 16, 2008; Page C6

Sen. Charles Schumer met with Securities and Exchange Commission Chairman Christopher Cox to press the agency to increase its efforts policing conflicts of interests that may have contributed to bond-rating companies' missed calls in the housing market. The meeting was scheduled by Mr. Cox to brief the New York Democrat on the SEC's progress in considering new rules to more-tightly regulate the rating companies, according to a person familiar with the matter.

The companies -- McGraw-Hill Cos.' Standard & Poor's, Moody's Corp.'s Moody's Investors Service and Fimalac SA's Fitch Ratings -- have been forced to downgrade thousands of mortgage-related securities after their initial calls about the U.S. housing market proved too optimistic in the last 18 months.

"There has to be a lot more done about conflicts of interest" at rating companies, Sen. Schumer said Tuesday evening. "I suggested to Chairman Cox either prohibitions" that would limit some of these conflicts "or some really tough disclosures" that would tell investors how ratings were reached.
Suppose the seller of the financial asset in our experiment pays the credit-rating agency to announce a rating of the asset.  Suppose the credit rating agency is not required to disclose how it reaches its rating.  

(c)  (5pts)  How could that situation make the credit-rating agency in our experiment “too optimistic”?   Explain.

(d)  (5pts)  In our experiment, what “prohibitions” or “really tough disclosures” could limit a credit-rating agency’s conflict of interest?  Explain.
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